

A Thesis Submitted in Partial Fulfillment of the Requirements for the Degree of Master of Science Program in Mathematics

Department of Mathematics and Computer Science
Faculty of Science
Chulalongkorn University
Academic Year 2011
Copyright of Chulalongkorn University

บทคัดย่อและแฟ้มข้อมูลฉบับเต็มของวิทยานิพนธ์ตั้งแต่ปีการศึกษา 2554 ที่ให้บริการในคลังปัญญาจุฬาฯ (CUIR) เป็นแฟ้มข้อมูลของนิสิตเจ้าของวิทยานิพนธ์ที่ส่งผ่านทางบัณฑิตวิทยาลัย
Thesis Title Functional Equation On Planar Quadrilaterals
By Mr. Rittigrai Kotnara
Field of Study Mathematics
Thesis Advisor Associate Professor Paisan Nakmahachalasint, Ph.D. Thesis Co-advisor Assistant Professor Nataphan Kitisin, Ph.D.

Accepted by the Faculty of Science, Chulalongkorn University in Partial Fulfillment of the Requirements for the Master's Degree

Dean of the Faculty of Science

THESIS COMMITTEE

(Associate Professor Patanee Udomkavanich, Ph.D.)
............................................... Thesis Advisor
(Associate Professor Paisan Nakmahachalasint, Ph.D. )
$\qquad$
(Assistant Professor Nataphan Kitisin, Ph.D. )

Examiner
(Khamron Mekchay, Ph.D.)
.................................................... External Examiner
(Watcharapon Pimsert, Ph.D.)

## ACKNOWLEDGEMENTS

In the completion of my Master Thesis, I am deeply indebted to my advisor, Associate Professor Paisan Nakmahachalasint, and my co-advisor, Assistant Professor Nataphan Kitisin, not only for coaching my research but also for broadening my academic vision. He also actively encouraged me to overcome any difficulty I encountered during this thesis work. Meanwhile, I could not complete this thesis without his inspiration and persuasive instruction. The word thank you might not be enough.

Sincere thanks and deep appreciation are also extended to Associate Professor Patanee Udomkavanich, Dr. Khamron Mekchay, Dr. Watcharapon Pimsert, my thesis committee, for their comments and suggestions. Besides, I would like to thank all teachers who have taught me all along.

Next, I would like to express my gratitude to Chulalongkorn University and Research Professional Development Project under the Science Achievement Scholarship of Thailand, the scholarship grantor entity. They provide me the most valuable moment in my life giving me a chance to continue higher education in the most prestigious university in Thailand. Without this financial support, my master research would not be realized.

Furthermore, I wish to thank my friends who never ignore any of my words. Their strong support always cheers me up in this academic life.

Last but not least, I am most grateful to my family which is the most important thing in my life. Their unconditional love has brought me up. I really owe what I am to them; especially, my mother and my father who make me believe in my own way and let grow up as a quality man.

## CONTENTS

page
ABSTRACT IN THAI ..... iv
ABSTRACT IN ENGLISH ..... v
ACKNOWLEDGEMENTS ..... vi
CONTENTS ..... vii
CHAPTER
I INTRODUCTION ..... 1
1.1 Functional Equation ..... 1
1.2 Literature Review .....  3
1.3 Proposed Work ..... 6
II FUNCTIONAL EQUATION ON PLANAR TRIANGLES ..... 7
2.1 Geometric of Lines and Triangles on Cartesian Plan $\mathbb{R}^{2}$ ..... 7
2.2 General Solution of Functional Equation on Planar Triangles ..... 9
III FUNCTIONAL EQUATION ON PLANAR QUADRILATERALS ..... 12
3.1 The Case of Parallelograms ..... 12
3.2 The Case of General Quadrilaterals ..... 14
REFERENCES ..... 20
VITA ..... 21


## CHAPTER I INTRODUCTION

### 1.1 Functional Equation

## J. Aczel [2] defined functional equation as follows

"Functional equations are equations, both sides of which are terms constructed from a finite number of unknown functions and from a finite number of independent variables. This construction is effected by a finite number of known functions of one or several variables and by finitely many substitutions of terms which contain known and unknown functions into other known and unknown functions. The functional equations determine the unknown functions. We speak of functional equations or systems of functional equations, depending on whether we have one or several equations."

We can simply say that functional equations are equations such that unknowns are functions.

Functional equations can be solved by introducing some wise substitutions to yield more information or additional equations as in the following example.

Example 1.1. Find all functions $f: \mathbb{R} \rightarrow \mathbb{R}$ satisfying the functional equation

$$
\begin{equation*}
f(1-x)+2 f(x)=x+4 \tag{1.1}
\end{equation*}
$$

for all $x \in \mathbb{R}$.

Solution. Assume that there is a function $f: \mathbb{R} \rightarrow \mathbb{R}$ satisfying (1.1). Replacing $x$ by $1-x$ in (1.1), we have

$$
\begin{equation*}
f(x)+2 f(1-x)=5-x . \tag{1.2}
\end{equation*}
$$

Solving (1.1) and (1.2), we get $f(x)=x+1$.
Conversely if a function $f$ is given by $f(x)=x+1$, then

$$
f(1-x)+2 f(x)=(1-x)+1+2(x+1)=x+4
$$

Therefore the function $f$ defined by $f(x)=x+1$ for all $x \in \mathbb{R}$ is the unique solution of the functional equation (1.1).

In some circumstances, functional equations may not be solvable.
Example 1.2. Find all functions $f: \mathbb{R} \rightarrow \mathbb{R}$ satisfying the functional equation

$$
\begin{equation*}
2 f(5-x)+x f(x)=1 \tag{1.3}
\end{equation*}
$$

for all $x \in \mathbb{R}$.

Solution. Assume that there is a function $f: \mathbb{R} \rightarrow \mathbb{R}$ satisfying (1.3).
Substituting $x=1$ in (1.3), we obtain that

$$
\begin{equation*}
2 f(4)+f(1)=1 \tag{1.4}
\end{equation*}
$$

Substituting $x=4$ in (1.3), we get that

$$
\begin{equation*}
2 f(1)+4 f(4)=1 . \tag{1.5}
\end{equation*}
$$

We see that $f(1)$ and $f(2)$ cannot simultaneously satisfy (1.4) and (1.5). Thus there is no function $f: \mathbb{R} \rightarrow \mathbb{R}$ satisfying the functional equation (1.3).

Next, we will give an example of functional equations where the function is defined on $\mathbb{R}^{2}$.

Example 1.3. Given $a, b \in \mathbb{R}$, find all functions $f: \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ satisfying the functional equation

$$
\begin{equation*}
f(x, y)+f(x+\lambda a, y+\lambda b)=0 \tag{1.6}
\end{equation*}
$$

for all $x, y, \lambda \in \mathbb{R}$ and $\lambda \neq 0$.

Solution. Assume that there is a function $f: \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ satisfying (1.6).
Replacing $x, y$ by $x+\lambda a, y+\lambda b$, respectively in (1.6), we have

$$
\begin{equation*}
f(x+\lambda a, y+\lambda b)+f(x+2 \lambda a, y+2 \lambda b)=0 . \tag{1.7}
\end{equation*}
$$

From (1.6) and (1.7), we obtain that

$$
\begin{equation*}
f(x, y)=f(x+2 \lambda a, y+2 \lambda b) \tag{1.8}
\end{equation*}
$$

Replacing $\lambda$ by $\lambda / 2$ in (1.8), we have

$$
\begin{equation*}
f(x, y)=f(x+\lambda a, y+\lambda b) \tag{1.9}
\end{equation*}
$$

From (1.6) and (1.9), we conclude that

$$
f(x, y)=0 .
$$

Conversely, if a function $f$ is given by $f(x, y)=0$, then it is obvious that

$$
f(x, y)+f(x+\lambda a, y+\lambda b)=0+0=0 .
$$

Therefore the function $f$ defined by $f(x, y)=0$ for all $x, y \in \mathbb{R}$ is the unique solution of the functional equation (1.6).

### 1.2 Literature Review

In this section, we will review some research related to this thesis.
In 1968, J. Aczél, H. Haruki, M.A. McKiernan and G. N. Sakovič [1] studied a functional equation

$$
\begin{equation*}
f(x+u, y+v)+f(x+u, y-v)+f(x-u, y+v)+f(x-u, y-v)=4 f(x, y) \tag{1.10}
\end{equation*}
$$

This equation states that the value of $f$ at the center of any rectangle with sides parallel to the coordinate axes, equals the mean of the values at all vertices.


Figure 1.1 : Rectangle

The general solution of (1.10) is given by

$$
\begin{equation*}
f(x, y)=A(x, y)+B(x)+C(y)+D \tag{1.11}
\end{equation*}
$$

where $B(x)$ and $C(x)$ are arbitrary additive functions (a function $\phi: \mathbb{R} \rightarrow \mathbb{R}$ is additive if and only if $\phi(x+y)=\phi(x)+\phi(y)$ for all $x, y \in \mathbb{R}), A(x, y)$ is an arbitrary function which is additive in each variable, and $D$ is a constant. They also studied the functional equation

$$
\begin{equation*}
f(x+u, y)+f(x-u, y)+f(x, y+v)+f(x, y-v)=4 f(x, y) \tag{1.12}
\end{equation*}
$$



Figure 1.2 : Rhombus
which states that the value of $f$ at the center of any rhombus equals the mean of the values at all vertices and obtained the same solutions of the form (1.11). Finally, they investigated the functional equation

$$
\begin{equation*}
f(x+v, y+v)+f(x+v, y-v)+f(x-v, y+v)+f(x-v, y-v)=4 f(x, y) \tag{1.13}
\end{equation*}
$$



Figure 1.3 : Square
which states that the value of $f$ at the center of any square with sides parallel to the coordinate axes equals the mean of the values at all vertices, and found that
the general solution is given by

$$
\begin{aligned}
f(x, y) & =A^{0}+A^{1}(x)+B^{1}(y)+A^{1,1}(x ; y)+A^{2}(y)-A^{2}(x)-A^{3}(x)-3 A_{3}(y, y, x) \\
& +B^{3}(y)-3 B_{3}(x, x, y)+A^{1,3}(x ; y)-A_{1,3}(x ; y, x, x)
\end{aligned}
$$

where $A^{3}(y)=A_{3}(y, y, y), B^{3}(y)=B_{3}(y, y, y), A^{1,3}(x ; y)=A_{1,3}(x ; y, y, y)$ with the added symmetry condition $A_{1,3}(x ; y, z, z)=A_{1,3}(z ; y, x, z)$.
Here, $A_{m, n}\left(x_{1}, \ldots, x_{m} ; y_{1}, \ldots, y_{n}\right)$ denotes a symmetric multi-additive function and $A^{m, n}(x ; y)$ denotes the diagonalization of $A_{m, n}$.

In 1969, J.A. Baker [7] studied the functional equation

$$
\begin{equation*}
f(x+t, y)+f(x-t, y)=f(x, y+t)+f(x, y-t) \tag{1.14}
\end{equation*}
$$

which is analogous to the well-known wave equation

$$
\left(\frac{\partial^{2}}{\partial x^{2}}-\frac{\partial^{2}}{\partial y^{2}}\right) f(x, y)=0
$$

He found that all continuous solutions are of the form

$$
\begin{equation*}
f(x, y)=\alpha(x+y)+\beta(x-y) \tag{1.15}
\end{equation*}
$$

where $\alpha$ and $\beta$ are arbitrary continuous functions.
In the following year, H. Haruki [5] also solved (1.14) by a different method and obtained results similar to that of J.A. Baker. In the same year, M. Kucharzewski [8] studied (1.14) which satisfies the relation

$$
f(x, y)-f(-x, y)-f(x,-y)+f(-x,-y)=\alpha_{1}(x+y)+\beta_{1}(x-y)
$$

where $\alpha_{1}$ and $\beta_{1}$ are arbitrary functions, and got the solutions of the form (1.15) but the function $\alpha$ and $\beta$ need not be continuous.

In 1972, D.P. Flemming [4] solved (1.14) using a transformation of coordinates $(x, y)$ into $(\zeta, \eta)$ according to the relations

$$
\zeta=\frac{k+1}{2} x+\frac{k-1}{2} y
$$

and

$$
\eta=\frac{k-1}{2} x+\frac{k+1}{2} y
$$

and obtained the solutions of the form (1.15) when there is no assumption regarding the continuity of $\alpha, \beta$ and $f$. In the same year, M. A. McKiernan [9] gave the solutions of (1.14) in the following more general context which take the form of

$$
f(x, y)=\alpha(x+y)+\beta(x-y)+A(x, y),
$$

where $\alpha, \beta$ are arbitrary functions and $A(x, y)$ is an arbitrary skew-symmetric biadditive function,
and

$$
A(x, y)=-A(y, x)
$$

In 1973, D. Girod [3] studied more general version of (1.14) and obtained a result similar to that of M.A. McKiernan.

### 1.3 Proposed Work

We will first find the general solution of functional equation on planar triangles. Afterward, we will find the general solution of functional equation on planar quadrilaterals.

## CHAPTER II FUNCTIONAL EQUATION ON PLANAR TRIANGLES

### 2.1 Geometry of Lines and Triangles on Cartesian Plan $\mathbb{R}^{2}$

First, we will mentioned some background knowledges essential to this thesis.
We start by considering translation and dilation of a nonzero vector $\vec{a}$ shown in Fig 2.1.

Figure 2.1
If vectors $\overrightarrow{0}$ and $\vec{a}$ are translated by another vector $\vec{x}$, then they will become $\vec{x}$ and $\vec{x}+\vec{a}$, respectively, as shown in Fig 2.2.


Figure 2.2
If vectors $\overrightarrow{0}$ and $\vec{a}$ are dilated by a nonzero real number $\lambda$, then they will become $\overrightarrow{0}$ and $\lambda \vec{a}$, respectively, as shown in Fig 2.3


Figure 2.3

Therefore, the vectors $\vec{x}$ and $\vec{x}+\lambda \vec{a}$ can be obtained from vectors $\overrightarrow{0}$ and $\vec{a}$, respectively, by first dilating $\vec{a}$ by a factor $\lambda(\lambda \neq 0)$ followed by a translating the result by the vector $x$.

Next, we will explain a geometry of planar triangles. For given nonzero complex numbers $a_{1}, a_{2}$ such that $a_{1}$ is not a multiple of $a_{2}$, we can construct a triangle on the Cartesian plan $\mathbb{R}^{2}$, as shown in Fig 2.4.


Figure 2.4: Triangle
If vectors $\overrightarrow{0}, \overrightarrow{a_{1}}$ and $\vec{a}$ are translated by another vector $\vec{x}$, then they will become $\vec{x}, \vec{x}+\overrightarrow{a_{1}}$ and $\vec{x}+\overrightarrow{a_{2}}$, respectively, as shown in Fig 2.5.


Figure 2.5: translation of triangle
If vectors $\overrightarrow{0}, \overrightarrow{a_{1}}$ and $\overrightarrow{a_{2}}$ are dilated by a factor $\lambda(\lambda \neq 0)$, then they will become $\overrightarrow{0}, \lambda \overrightarrow{a_{1}}$ and $\lambda \overrightarrow{a_{2}}$, respectively, as shown in Fig 2.6.


Figure 2.6: dilation of triangle

Therefore, the vectors $\vec{x}, \vec{x}+\lambda \overrightarrow{a_{1}}$ and $\vec{x}+\lambda \overrightarrow{a_{2}}$ can be obtained from $\overrightarrow{0}, \overrightarrow{a_{1}}$ and $\overrightarrow{a_{2}}$, respectively, by a dilation by $\lambda(\lambda \neq 0)$ followed by a translation by vector $\vec{x}$.

### 2.2 General Solution of Functional Equation on Planar Triangles

In this chapter, given a triangle $A B C$ in the Cartesian plane $\mathbb{R}^{2}$. We will find the general solution of the functional equation that the sum of the function values, taken at all vertices of a triangle which is obtained by any translation and dilation of a fixed triangle $A B C$, is equal to zero.
Fig 2.7 illustrates the case where the triangle $A B C$ is nondegenerate.


Figure 2.7: Triangle
Theorem 2.1. Let $a_{1}, a_{2} \in \mathbb{C}$. A function $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfies the functional equation

$$
f(x)+f\left(x+\lambda a_{1}\right)+f\left(x+\lambda a_{2}\right)=0
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$ if and only if $f(x)=0$ for all $x \in \mathbb{C}$.
Proof. Let $a_{1}, a_{2} \in \mathbb{C}$. Assume that there is a functional $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfying

$$
\begin{equation*}
f(x)+f\left(x+\lambda a_{1}\right)+f\left(x+\lambda a_{2}\right)=0 \tag{2.1}
\end{equation*}
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$.
For convenience, we define

$$
\begin{equation*}
F_{\lambda}(x) \equiv f(x)+f\left(x+\lambda a_{1}\right)+f\left(x+\lambda a_{2}\right) \tag{2.2}
\end{equation*}
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$. Then $F_{\lambda}(x)=0$ for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$. As formulated in (2.2) with $A=x, B=x+\lambda a_{1}$ and $C=x+\lambda a_{2}$, and with $B^{\prime}=x+2 \lambda a_{1}, D=x+\lambda\left(a_{1}+a_{2}\right)$ and $C^{\prime}=x+2 \lambda a_{2}$.

$$
\begin{align*}
F_{\lambda}(A) & \equiv f(A)+f(B)+f(C),  \tag{2.3}\\
F_{\lambda}(B) & \equiv f(B)+f\left(B^{\prime}\right)+f(D), \\
F_{\lambda}(C) & \equiv f(C)+f(D)+f\left(C^{\prime}\right), \\
F_{2 \lambda}(A) & \equiv f(A)+f\left(B^{\prime}\right)+f\left(C^{\prime}\right), \tag{2.4}
\end{align*}
$$



Figure 2.8: Geometrical representation when $a_{1}$ is not a multiple of $a_{2}$

It is not hard to see that

$$
\frac{1}{2}\left(F_{\lambda}(A)+F_{\lambda}(B)+F_{\lambda}(C)-F_{2 \lambda}(A)\right)=f(C)+f(B)+f(D)
$$

That is

$$
\begin{equation*}
f(C)+f(B)+f(D)=0 . \tag{2.5}
\end{equation*}
$$

From (2.3) and (2.5), we have

$$
\begin{equation*}
f(A)=f(D) . \tag{2.6}
\end{equation*}
$$

From (2.6) and (2.4), we get

$$
\begin{equation*}
f\left(B^{\prime}\right)+f(D)+f\left(C^{\prime}\right)=0 . \tag{2.7}
\end{equation*}
$$

Now in (2.7) we have

$$
\begin{equation*}
f\left(x+2 \lambda a_{1}\right)+f\left(x+\lambda\left(a_{1}+a_{2}\right)\right)+f\left(x+2 \lambda a_{2}\right)=0 . \tag{2.8}
\end{equation*}
$$

Recall that $B^{\prime}=x+2 \lambda a_{1}, D=x+\lambda\left(a_{1}+a_{2}\right)$ and $C^{\prime}=x+2 \lambda a_{2}$, which are collinear points in Fig 2.8.

Thus, we define

$$
G_{\lambda}(x) \equiv f\left(x+2 \lambda a_{1}\right)+f\left(x+\lambda\left(a_{1}+a_{2}\right)\right)+f\left(x+2 \lambda a_{2}\right) .
$$

From (2.8), we have $G_{\lambda}(x)=0$ for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$.
We can verify that

$$
0=G_{\lambda / 3}\left(x+\frac{\lambda}{3} a_{1}\right)-G_{\lambda / 3}\left(x+\frac{\lambda}{3} a_{2}\right)=f\left(x+\lambda a_{1}\right)-f\left(x+\lambda a_{2}\right) .
$$

That is

$$
\begin{equation*}
f\left(x+\lambda a_{1}\right)=f\left(x+\lambda a_{2}\right) \tag{2.9}
\end{equation*}
$$

From (2.1) and (2.9),

$$
\begin{equation*}
f(x)+2 f\left(x+\lambda a_{1}\right)=0 . \tag{2.10}
\end{equation*}
$$

Replacing $x$ by $x+\lambda a_{1}$ in (2.10), we get

$$
\begin{equation*}
f\left(x+\lambda a_{1}\right)+2 f\left(x+2 \lambda a_{1}\right)=0 . \tag{2.11}
\end{equation*}
$$

From (2.10) and (2.11) and by replacing $\lambda$ with $\lambda / 2$, we have

$$
\begin{equation*}
f(x)=4 f\left(x+\lambda a_{1}\right) . \tag{2.12}
\end{equation*}
$$

From (2.10) and (2.12), we obtain

$$
\begin{equation*}
f(x)=0 \tag{2.13}
\end{equation*}
$$

for all $x \in \mathbb{C}$.
Conversely, we can clearly see that if $f(x)=0$ for all $x \in \mathbb{C}$ then (2.1) hold for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$.

## CHAPTER III FUNCTIONAL EQUATION ON PLANAR QUADRILATERALS

In this chapter, we will find the general solution of the functional equation stating that the sum of the function taken at all vertices of a quadrilateral, obtained by any translation and dilation of a fixed quadrilateral $A B C D$, is equal to zero. In order to better understand the method, let us start with the case of parallelograms.

### 3.1 The Case of Parallelograms

Given $a_{1}, a_{2} \in \mathbb{C} \backslash\{0\}$ such that $a_{1}$ is not a multiple of $a_{2}$, we can construct a parallelogram on the Cartesian plan $\mathbb{R}^{2}$ as shown in Fig 3.1.1.


Then the vectors $\vec{x}, \vec{x}+\lambda \overrightarrow{a_{1}}, \vec{x}+\lambda \overrightarrow{a_{2}}$ and $\vec{x}+\lambda\left(\overrightarrow{a_{1}}+\overrightarrow{a_{2}}\right)$ can be obtained from $\overrightarrow{0}, \overrightarrow{a_{1}}, \overrightarrow{a_{2}}$ and $\overrightarrow{a_{1}}+\overrightarrow{a_{2}}$, respectively, by a dilation $\vec{a}$ by a factor $\lambda(\lambda \neq 0)$ and followed by a translation by vector $\vec{x}$ as shown in Fig 3.1.2


Figure 3.1.2

We will first prove the following lemma.
Lemma 3.1. Let $a \in \mathbb{C}$. A function $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfies the functional equation

$$
\begin{equation*}
f(x)+f(x+\lambda a)=0 \tag{3.1}
\end{equation*}
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$ if and only if $f(x)=0$ for all $x \in \mathbb{C}$.
Proof. Let $a \in \mathbb{C}$. Assume that there is a functional $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfying (3.1). Replacing $x$ by $x+\lambda a$ in (3.1), we obtain

$$
\begin{equation*}
f(x+\lambda a)+f(x+2 \lambda a)=0 . \tag{3.2}
\end{equation*}
$$

By (3.1) and (3.2), we get

$$
\begin{equation*}
f(x)=f(x+2 \lambda a) . \tag{3.3}
\end{equation*}
$$

Replacing $\lambda$ by $\lambda / 2$ in (3.3), we have

$$
\begin{equation*}
f(x)=f(x+\lambda a) \tag{3.4}
\end{equation*}
$$

From (3.1) and (3.4), we get $f(x)=0$ for all $x \in \mathbb{C}$.
Conversely, we can clearly see that if $f(x)=0$ for all $x \in \mathbb{C}$ then (3.1) hold for all $x \in \mathbb{C}$ and all $\lambda \in \mathbb{R} \backslash\{0\}$.

Note: It should be noted that Lemma 3.1 is equivalent to Example 1.3.
In the following theorem, we will solve a useful functional equation pertain to a parallelogram.

Theorem 3.2. Let $a_{1}, a_{2} \in \mathbb{C}$. A function $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfies the functional equation

$$
\begin{equation*}
f(x)+f\left(x+\lambda a_{1}\right)+f\left(x+\lambda a_{2}\right)+f\left(x+\lambda\left(a_{1}+a_{2}\right)\right)=0 \tag{3.5}
\end{equation*}
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$ if and only if $f(x)=0$ for all $x \in \mathbb{C}$.
Proof. Let $a_{1}, a_{2} \in \mathbb{C}$. Assume that there is a function $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfying (3.5). For convenience, we define

$$
F_{\lambda}(x) \equiv f(x)+f\left(x+\lambda a_{1}\right)+f\left(x+\lambda a_{2}\right)+f\left(x+\lambda\left(a_{1}+a_{2}\right)\right)
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$.
It is straightforward to verify that

$$
\begin{aligned}
& \frac{1}{2}\left(F_{\lambda}(x)+F_{\lambda}\left(x+\lambda a_{1}\right)+F_{\lambda}\left(x+\lambda\left(a_{1}+a_{2}\right)\right)+F_{\lambda}\left(x+\lambda a_{2}\right)-F_{2 \lambda}(x)\right) \\
- & F_{\lambda}(x)-F_{\lambda}\left(x+\lambda\left(a_{1}, a_{2}\right)\right)=-f(x)-f\left(x+2 \lambda\left(a_{1}+a_{2}\right)\right) .
\end{aligned}
$$

That is

$$
\begin{equation*}
f(x)+f\left(x+2 \lambda\left(a_{1}+a_{2}\right)\right)=0 \tag{3.6}
\end{equation*}
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$
Applying Lemma 3.1 to (3.6), we obtain that $f(x)=0$ for all $x \in \mathbb{C}$.
Conversely, if $f(x)=0$ for all $x \in \mathbb{C}$ then (3.5) hold for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$.

The above theorem motivates us to consider a functional equation peertain to a general quadrilateral in the Cartesian plane $\mathbb{R}^{2}$ in the next section.

### 3.2 The Case of General Quadrilaterals

We will now turn to the case of general quadrilaterals. Let us start with a lemma on a slightly different functional equation on a parallelogram.

Lemma 3.3. Let $a_{1}, a_{2} \in \mathbb{C}$. If a function $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfies the functional equation

$$
f(x)+f\left(x+\lambda a_{1}\right)=f\left(x+\lambda a_{2}\right)+f\left(x+\lambda\left(a_{1}+a_{2}\right)\right)
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$ then $f(x)=f\left(x+\lambda a_{2}\right)$ for all $x \in \mathbb{C}$.
Proof. Assume the hypothesis of the lemma.
We define

$$
\begin{equation*}
F_{\lambda}(x) \equiv f(x)+f\left(x+\lambda a_{1}\right)-f\left(x+\lambda a_{2}\right)-f\left(x+\lambda\left(a_{1}+a_{2}\right)\right) \tag{3.7}
\end{equation*}
$$

for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$.
As formulated in (3.7) with $A=x, B=x+\lambda a_{1}, C=x+\lambda a_{2}$ and $D=x+\lambda\left(a_{1}+a_{2}\right)$
we have,

$$
\begin{aligned}
& F_{\lambda}(A) \equiv f(A)+f(B)-f(D)-f(C), \\
& F_{\lambda}(B) \equiv f(B)+f\left(B^{\prime}\right)-f(C)-f(P), \\
& F_{\lambda}(C) \equiv f(C)+f(P)-f(Q)-f\left(C^{\prime}\right), \\
& F_{\lambda}(D) \equiv f(D)+f(C)-f\left(D^{\prime}\right)-f(Q), \\
& F_{2 \lambda}(A) \equiv f(A)+f\left(B^{\prime}\right)-f\left(D^{\prime}\right)-f\left(C^{\prime}\right)
\end{aligned}
$$

where $B^{\prime}=x+2 \lambda a_{1}, P=x+\lambda\left(2 a_{1}+a_{2}\right), D^{\prime}=x+2 \lambda a_{2}, Q=x+\lambda\left(2 a_{2}+a_{1}\right)$ and $C^{\prime}=x+2 \lambda\left(a_{1}+a_{2}\right)$.


Figure 3.2.2: Geometrical representation when $a_{1}$ is not a multiple of $a_{2}$
We can simply verify that

$$
\frac{1}{2}\left(F_{\lambda}(A)+F_{\lambda}(D)-F_{\lambda}(B)-F_{\lambda}(C)+F_{2 \lambda}(A)\right)=f(A)-f\left(D^{\prime}\right)
$$

That is

$$
\begin{equation*}
f(x)=f\left(x+2 \lambda a_{2}\right) \tag{3.8}
\end{equation*}
$$

Replacing $\lambda$ by $\lambda / 2$ in (3.8), we get

$$
\begin{equation*}
f(x)=f\left(x+\lambda a_{2}\right) \tag{3.9}
\end{equation*}
$$

for all $x \in \mathbb{C}, \lambda \in \mathbb{R} \backslash\{0\}$.

The following theorem is the main result in this thesis.
Figure 3.2.3 illustrates the case when the quadrilateral $A E F B$ is nondegenerate.


Figure 3.2 .3 : nondegenerate quadrilateral
Theorem 3.4. Let $a_{1}, a_{2}, a_{3} \in \mathbb{C}$. A function $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfies the functional equation

$$
\begin{equation*}
f(x)+f\left(x+\lambda a_{1}\right)+f\left(x+\lambda a_{2}\right)+f\left(x+\lambda a_{3}\right)=0 \tag{3.10}
\end{equation*}
$$

for all $x \in \mathbb{C}, \lambda \in \mathbb{R} \backslash\{0\}$ if and only if $f(x)=0$ for all $x \in \mathbb{C}$.
Proof. Let $a_{1}, a_{2}, a_{3} \in \mathbb{C}$. Assume there is a functional equation $f: \mathbb{C} \rightarrow \mathbb{C}$ satisfying (3.10).
For convenience, we will define

$$
\begin{equation*}
F_{\lambda}(x) \equiv f(x)+f\left(x+\lambda a_{1}\right)+f\left(x+\lambda a_{2}\right)+f\left(x+\lambda a_{3}\right) \tag{3.11}
\end{equation*}
$$

for all $x \in \mathbb{C}, \lambda \in \mathbb{R}$ and $\lambda \neq 0$.
From (3.11), we get $F_{\lambda}(x)=0$ for all $x \in \mathbb{C}, \lambda \in \mathbb{R} \backslash\{0\}$.
As formulated in (3.11) with $A=x, E=x+\lambda a_{1}, F=x+\lambda a_{2}$ and $B=x+\lambda a_{3}$

we have,

$$
\begin{align*}
F_{\lambda}(A) & \equiv f(A)+f(E)+f(F)+f(B),  \tag{3.12}\\
F_{\lambda}(B) & \equiv f(B)+f(G)+f(H)+f(C),  \tag{3.13}\\
F_{\lambda}(E) & \equiv f(E)+f(K)+f(L)+f(G),  \tag{3.14}\\
F_{\lambda}(F) & \equiv f(F)+f(L)+f(N)+f(H),  \tag{3.15}\\
F_{\lambda}(G) & \equiv f(G)+f(M)+f(O)+f(I),  \tag{3.16}\\
F_{\lambda}(H) & \equiv f(H)+f(O)+f(P)+f(J),  \tag{3.17}\\
F_{\lambda}(L) & \equiv f(L)+f(R)+f(S)+f(O),  \tag{3.18}\\
F_{2 \lambda}(A) & \equiv f(A)+f(K)+f(N)+f(C),  \tag{3.19}\\
F_{2 \lambda}(E) & \equiv f(E)+f(Q)+f(S)+f(I),  \tag{3.20}\\
F_{2 \lambda}(F) & =f(F)+f(R)+f(T)+f(J),  \tag{3.21}\\
F_{2 \lambda}(B) & \equiv f(B)+f(M)+f(P)+f(D),  \tag{3.22}\\
F_{3 \lambda}(A) & \equiv f(A)+f(Q)+f(T)+f(D), \tag{3.23}
\end{align*}
$$

where

$$
\begin{aligned}
& K=x+2 \lambda a_{1}, Q=x+3 \lambda a_{1}, N=x+2 \lambda a_{2}, T=x+3 \lambda a_{2}, \\
& C=x+2 \lambda a_{3}, D=x+3 \lambda a_{3}, H=x+\lambda\left(a_{2}+a_{3}\right), J=x+\lambda\left(a_{2}+2 a_{3}\right), \\
& G=x+\lambda\left(a_{1}+a_{3}\right), I=x+\lambda\left(a_{1}+2 a_{3}\right), L=x+\lambda\left(a_{1}+a_{2}\right), \\
& R=x+\lambda\left(2 a_{1}+a_{2}\right), M=x+\lambda\left(2 a_{1}+a_{3}\right), S=x+\lambda\left(a_{1}+2 a_{2}\right), \\
& O=x+\lambda\left(a_{1}+a_{2}+a_{3}\right), P=x+\lambda\left(2 a_{2}+a_{3}\right) .
\end{aligned}
$$



Figure 3.2.4: Geometrical representation when $a_{1}, a_{2}, a_{3}$ are not collinear points
Setting $S_{1}=F_{\lambda}(B)+F_{\lambda}(E)+F_{\lambda}(F), S_{2}=F_{\lambda}(G)+F_{\lambda}(H)+F_{\lambda}(L)$
and $S_{3}=F_{2 \lambda}(A)+F_{2 \lambda}(E)+F_{2 \lambda}(F)+F_{2 \lambda}(B)$.
By the definition of $F_{\lambda}(x)$ in (3.11), we verify that

$$
0=\frac{1}{3}\left(S_{1}+S_{2}-S_{3}\right)=f(G)+f(L)+f(O)+f(H)
$$

That is

$$
\begin{equation*}
f(G)+f(L)+f(O)+f(H)=0 \tag{3.24}
\end{equation*}
$$

Combine (3.24) with (3.13),

$$
\begin{equation*}
\text { C니내 } f(L)+f(O)=f(B)+f(C) \text {. } \tag{3.25}
\end{equation*}
$$

Applying Lemma 3.3 with (3.25), we obtain that

$$
\begin{equation*}
f(C)=f(O) \tag{3.26}
\end{equation*}
$$

By combing (3.24) with (3.14) and then applying Lemma 3.3, we obtain that

$$
\begin{equation*}
f(K)=f(O) \tag{3.27}
\end{equation*}
$$

Now we have

$$
f(K)=f(C)
$$

That is

$$
\begin{equation*}
f\left(x+2 \lambda a_{1}\right)=f\left(x+2 \lambda a_{3}\right) . \tag{3.28}
\end{equation*}
$$

Replacing $\lambda$ by $\lambda / 2$, we get

$$
\begin{equation*}
f(E)=f(B) \tag{3.29}
\end{equation*}
$$

Similarly, we can prove that

$$
\begin{equation*}
f(A)=f(F) . \tag{3.30}
\end{equation*}
$$

Recall that $f(A)+f(E)+f(F)+f(B)=\overline{0}$, and by using (3.29) and (3.30), we get

$$
\begin{equation*}
f(A)+f(E)=0 . \tag{3.31}
\end{equation*}
$$

From (3.31) and Lemma 3.1, we obtain that $f(x)=0$ for all $x \in \mathbb{C}$.
Conversely, clearly that if $f(x)=0$ for all $x \in \mathbb{C}$ then (3.10) hold for all $x \in \mathbb{C}$ and $\lambda \in \mathbb{R} \backslash\{0\}$.


## จุฬาลงกรณ์มหาวิทยาลัย



## REFERENCES

[1] J. Aczél, H. Haruki, M.A. McKiernan, G. N. Sakovič. General and regular solutions of functional equations characterizing harmonic polynomials, Aequationes Math. 1 (1968), 37-53.
[2] J. Aczél. Lectures on functional equations and their applications, Academic Press Inc. , 1966
[3] D. Girod. On the functional equation $\Delta_{T_{1} y} \Delta_{T_{2} y} f=0$, Aequationes Math. 9 (1973), 157-164.
[4] D.P. Flemming. Generalizations of the wave equation which allow weak and strong discontinuities, SIAM J. Appl. Math. 23 (1972), 221-224.
[5] H. Haruki. On the functional equation $f(x+t, y)+f(x-t, y)=f(x, y+t)+$ $f(x, y-t)$, Aequationes Math. 5 (1970), 118-119.
[6] H. Haruki. On the general solution of a nonsymmetric partial difference functional equation analogous to the wave equation, Aequationes Math. 36 (1988), 20-31.
[7] J.A. Bake. An analogue of the wave equation and certain related functional equations, Canad. Math. Bull. 12 (1969), 837-846.
[8] Kucharzewski. Some remarks on a difference-functional equation, Aequationes Math. 4 (1970), 399-400.
[9] M. A. McKiernan. The general solution of some finite difference equations analogous to the wave equation, Aequatione Math. 8 (1972), 263-266.
[10] S.Czerwik. Functional Equations and Inequalities in Several variable, World Scientific, 2001.

## VITA

Name Rittigrai Kotnara
Date of Birth 18 April 1987
Place of Birth Chaiyaphum, Thailand
Education B.Sc. (Mathematics, Second Class Honors),
Khonkaen University, 2009

## จุฬาลงกรณ์มหาวิทยาลัย

